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Time :3 HoLrrs

SECTION A

Answer anyfour questions Each queslion caries 1 markior pad (a),3 rnarks ior

Parl {b) and s marks for pan (c)

1. a) Detine cosl accolnl ng.

b) What are the objeclives ol cosl acco!nling ?

c) Dlst ngLr sh between diiierentialcost analysis and marginal cosiing.

2 a) Whal is rnale alcosl varlance ?

b) Explain va riance analysis. Whal s tlre importance oi vaiance ana ysls in

c) ExpLain lhe ditlerenl k nds of variances and lheir uses.

3. a) Whai is break even Poinl ?

b) Expa n the types of break even charts used {o.break even analvsis

c) From the following inlormalon, caculaie lhe break even point !n unils

and in sales value l

oulpul = 3000 units

Selling pice Per unit = Rs 30

Varab€ cost Per un t = Rs 20

T.ratiixed cost = Bs. 20 000 
"...o.
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4. a) What is value analysls ?

b) Explain the basic steps in value analvsis

c) Caculale abourcost variance from lhe inlomalion:

Siandard produclion : 100 unlls

Slandard Hours I 500 hours

Wage rate per hour : Bs 2

Aclual prodlction : 85 units

Actualtime laken : 450 hours

Aciual wage rale paid : Fs 2 10 per hour

5. a) Define marginal cosl ng.

b) D scuss the use ol cVP analysis and its signiiicance ol management

c) "Producl desiqn provides the glates scope lor cosl reductlon Discuss

6 a) Deune decslon making

b) Explain the phases inc uded in manageial decis on rnaking process

c) A manulacturing company tinds lhat whlle lhe cost ol making acomponent

No. 321 in iis workshop is Bs. I each, lhe sam€ is available in lhe markel

ai Rs. 6.50 with an assurance oi continuous supply. Give your suggesiion

whether lo make or buythis component Give also your views in case lhe

suppLier reduces the price lrom Rs 6 50 1o 8s 5 50 lhe cosl data ls as

Malerlas = Bs- 3

Direct Labour = Rs 2

Olher Varab e Expenses =Bs 1

Depreciation and olherllxed expenses = Bs' 2
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SECTION B

Answer any lwo questions, each carries 12 marks.

7 a) Company A and company B both under the same management make an

sell same type of producl. Their budgeted protit and loss accounts forthe
year end na 2017 are as follows :

Company B

Sa es

2,40,000

30,000

3 00 000

2 70 000

2,00,000

70,000

3 00 000

2 70,000

30 000 30,000

. Caiculale lhe break even poinis toreach company.

r Calc,dreI esales\r-par{hicheac. o'rherwoconpanrosw i

make a prolil of ns. 10,000.

. State which company is kelyto earn greater prolls in conditions of l

i) Heavy dernand lorllre producl

ii) Low dernand forthe prcduct

Give your reason.
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= Rs. 10,00,000

b) From the iollowing data relates to one veals wo ing at 1 00% capacily

levelin a rnanulactu nq business

Fixed cosl = Rs. 1 20,000

Varlrble cosl = Rs.2,00,000

Direcrwages = Rs 1,50,0c0

D reci l\,4aterials = Rs. 4,10,000

Constrlct a break even chart and expaln the terms margin of saiety and

angle oi incidence. Verifv vour result by calcllaiions

8. a) Wlrat is cost reduction ? Explajn the rneriis ol cosi rcduclion Whatarelhe

techniques ol cost reduction ?

OR

b) Define slandard costing and explain its objeciives 'Standard cosling is

used as a cost conlro lechn que" Explain


